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a7 U—RMIHDYVILA2 (t=5cm) 39 nt
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WriEfEE LB 1 (t=4 cm) 47 o
BrEfEETB1 (t=5cm) 29 nt
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WriREE B2 (t=4 cm) 19 7
WriRfEE B2 (t=5cm) 1 o
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K T A 330 m
S E K T A 98 m
K 2 1 HEE T 52 4% 2 i E4E 1 =
JEIK 2 B HEdE T3 0% 2 shRe B 4A 1 =
AR HL ) T EV 8,186,824 |EEEHMM L XN 52 ]
52 5]
FREM L XNXM 16 =}
16 5]
RIBRLEE EV 3,676,004 |ZHMEEARLE 68 A+ H
68 A-H
AW H R A 48 A-H
48 A-H
AR 2 B 62 A-H
62 NENE|
B T &t A1 369, 691, 308
Ik T2 A |1 23, 514, 543
(% T3 EVR 23,514,543 | BB TH 1 =




i
i

T # 4 | EEEAB TE K OEmELE
H | %%
1 H fr || & fi LI IS

BEh e TH 1 =

R T (YR ) 1 =

e T (BRI ) 1 =

& OO A T 32 1 =
EETHEE F K |1 393, 205, 851
SR K |1 55, 928, 608

Ll K |1 23, 858, 608 | HIMMEAI 2% A 7% T A 1 =

BRET R RE A A 1 =

LR ERHEA 1 A
e R K |1 32,070, 000
B Bt K |1 71, 297, 000
M THEE § K |1 127, 225, 608
T 5 K |1 520, 431, 459
—RE P K |1 58, 618, 541
Tk K |1 579, 050, 000




